EARAROBEEIERT — 2 N— IBISH —F

2018554280 (B) ABIS%#A1H

Ol SRC2 14 5% —m [xwl 8 | 1mEmml - |5 5 s g
[AE4£] 1 7 :180,000 @ 2 & :42,000 @ 3% 18,000  437%:13,000 5 3#&:9,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
BHBENT . - . — HOEEZ (%)
1lz7l71 %7737 SR ‘28_? " %o ? (ffz) T
L:vn7x B:X7/NnNYTH AR =—
¢ 2 I THEZ . - . — FEARRB— (5HA)
2|11 | Ny 7 T77AY— “ 4 50 4<95)8 A Rl 1 (4_(;2) NI :
REATAT v — BT—<A> ¥ T L
it o4 | EEED 49.9 4-3 36.6| — 3 402 | HIPIER (5£H2)
3 6 dxF i‘:SS% (1/2) (+4) (H) *71;7
A9 TIN—=2Y BNTYLTTIAR B B2
N KRiES] = - BEHIER (5H)
NARICERZ it 4 2 5(02.)3 2-2 37.4 5 <4+156) Baa A
LY LZ14N—b B:¥x3avTNERZ LRSS
— e _ ) 6| - KEEA (GH)
5 NEPPEDME N a} %0 5(02)7 56 8.6 ! :1:528) IMB=A :
L:hxeFx) Biwa4bILyy K B
. 5 .= KR . = . — BEFIER (5543)
6!5|5 A7 /79 K797 L 54.0 (1501/92) 77 o8 : (3_917) BHEE :
R:TFNTTY BT FTHIFLR XX INT 7 —L
o= BERESE — — BEHIER (543)
. 5| 75y oEn- i o4 o 5(12_>3 3-5 38.4 4 z:(snz pvess] 2
v IRy b Biaa-xh4 =
3 7 o4 | KE 51.4 8-8 37.5| — 8 479 | EEHER (ER)
8 2| VITRALR 56.0 (1/2) 2 | @ 7 P N
R b=t RILEY BiHIEYS J =% Ty — L
@ 1—F—@&BIEf
13—7—
23— —
30—7+— 7,8,3,6,4,1,5,2
43—+ — 7,8,6,1,3,4,5,2
[ RN
B OB 7 260/ 714K 1-7 120H B E 1-7 240M &R 1-6-7 150H
8 B 7 110 6-7 130M B E 7-1 490M JEH 7-1-6 740
1 1004 1-6 100M
6 1009

ABICOVWTRDTEEERROODE. TR LIV,




